The following is a full SAT that was used in the United States in 1999 and 2000.  It is an invaluable reference as you prepare for college admission.    We recommend that you use the test as a diagnostic tool.  Take it under controlled test conditions and determine your sample SAT score.  

Many candidates identify areas where they need improvement.       
Section 1    


25 Questions


30 Minutes

Directions:  Solve the following problems using any available space on the page for scratchwork.  On your answer sheet fill in the choice which best corresponds to the correct answer.

Notes:  The figures accompanying the problems are drawn as accurately as possible unless otherwise stated in specific problems.  Again, unless otherwise stated, all figures lie in the same plane.  All numbers used in these problems are real numbers.  Calculators are permitted for this test.

Reference Information:

Circles:  C = 2 (pi) r,  A = (pi) (r) (r)

The number of degrees of arc in a circle is 360. 

Rectangles:  A  = lw

Rectangular solid:  V = lwh

Cylinder:  V = (pi)(r)(r)h

Triangle:  The measure of degrees in a straight angle is 180


  The sum of the measures in degrees of the angles of a triangle is 180


  A = (0.5)bh

1.  If one cup of olive oil is added to a three-cup mixture that is 2/5 salad mix and 3/5 olive oil, what percent of the four-cup mixture is olive oil?

(A)  80%

(B)  75%

(C)  70%

(D)  65%

(E)  60%

2.  One wheel has a diameter of 30 inches and a second wheel has a diameter of 20 inches.  The first wheel travelled a certain distance in 240 revolutions.  In how many revolutions did the second wheel travel the same distance?

(A)  120

(B)  160

(C)  360

(D)  420

(E)  480

3.  If the result of squaring a number is less than the number, the number is

(A)  negative and greater than -1

(B)  negative and less than -1

(C)  a positive fraction greater than 1

(D)  positive and less than 1

(E)  1 and only 1

4.  If 9x + 5 = 23, what is the numerical value of 18x + 5?

(A)  46

(B)  41

(C)  36

(D)  32

(E)  It cannot be determined from the information given

5.  Pieces of wood are glued together to form the edge of a cube, whose volume is 64 cubic inches.  The number of inches of wood used is

(A)    24

(B)    48

(C)    64

(D)    96

(E)  120

6.  If a computer mouse costs $4.20 after a 40% discount, what was its original price?

(A)    $2.52

(B)    $4.60

(C)    $5.33

(D)    $7.00

(E)  $10.50

7.  If the number of square inches in the area of a circle is equal to the number of inches in its circumference, the diameter of the circle in inches is

(A)  4

(B)  3.1416  

(C)  2

(D)  3.1416 / 2

(E)  1

8.  When the fractions 2/3, 5/7, 8/11, and 9/13 are arranged in ascending order of size, the result is

(A) 8/11, 5/7, 9/13, 2/3

(B)  5/7, 8/11, 2/3, 9/13

(C)  2/3, 8/11, 5/7, 9/13

(D)  2/3, 9/13, 5/7, 8/11

(E)  9/13, 2/3, 8/11, 5/7

9.  If 15 cans of milk replacer are needed for seven puppies for two days, the number of cans needed to feed four puppies for seven days is

(A)  15

(B)  20

(C)  25

(D)  30

(E)  35

10.  If shipping charges to a certain point are 62 cents for the first five ounces and 8 cents for each additional ounce, the weight of a package, in pounds, for which the charges are $1.66 is

(A)      7/8

(B)  1

(C)  1  1/8

(D)  1  1/4

(E)  1  1/2

11.  Which of the following fractions is closest to 1, given that a > b > 1?

(A)  a / b

(B)  (a+2) / (b+2)

(C)  (a+1) / (b+1)

(D)  (a+1) / b

(E)  (a-1) / (b-1)

12.  In an display case with 21 ribbons, one-third are blue and two-thirds are pink.  To obtain a display case in which one-quarter are blue, how many pink should be added?

(A)  7

(B)  5

(C)  3

(D)  2

(E)  1

13.  The scale of a map is 3/4 inch = 10 miles.  If the distance on the map between two towns is 6 inches, the actual distance in miles is

(A)  45

(B)  60

(C)  75

(D)  80

(E)  90

14.  If d = m - (50/m), and m is a positive number, then as m increases in value, d

(A)  increases in value

(B)  deceases in value

(C)  remains unchanged

(D)  increases, then decreases

(E)  decreases, then increases

15.  If Josh drank an expresso at a different coffee house in Seattle, it would take him more than 19 years to cover all of Seattle's coffee houses, assuming that he drank three expressos per day.  On the basis of this information, the number of coffee houses in Seattle

(A)  exceeds 20,500

(B)  is closer to 20,000 than 21,000

(C)  exceeds 21,00

(D)  exceeds 21,000 but does not exceed 21,500

(E)  is less than 20,500

16. In a certain shipment, x out of every y items were found to be defective.  If 10 defective items were found in the shipment, what was the total number of items in the shipment?

(A)  (10y) / x

(B)  (10x)  / y

(C)  10y

(D)  (10y) / (y-x)

(E)  (10y) / (x-y)

17.  At a local community college, 40 percent of the women and 20 percent of the men are taking classes in web design.  If 55 percent of the students at the community college are women, what percent of all community college students take web design classes?

(A)  35

(B)  31

(C)  30

(D)  26

(E)  25

18.   If a square has an area of 16, then its perimeter is

(A)   4

(B)   8

(C)  16

(D)  32

(E)  64

19.  If 2y = 1/3, than 1/(4y) =

(A)  3/2

(B)  3/4

(C)  2/5

(D)  1/5

(E)  4/3

20)  A salon charges $30.00 for a precision haircut, blow dry and standard body wave, but $42.00 for an precision haircut, blow dry and deluxe body wave.  If the deluxe body wave costs four times as much as the standard body wave, how much does the standard body wave cost?

(A)  $2.00

(B)  $4.00

(C)  $5.00

(D)  $6.00

(E)  $8.00

21)  Square RSTU is graphed in the standard coordinate plane.  If the (x,y) coordinates of points R, S and T are (2, 1), (1, 2) and (2, 3), respectively, what are the coordinates of point U?

(A)  (3, 1)

(B)  (3, 2)

(C)  (3, 3)

(D)  (1, 3)

(E)  (1, 4)

22)  Rianna is 15 years old.  Justin is one-third older.  How many years ago was Justin twice as old as Rianna?

(A)  3

(B)  5

(C)  7.5

(D)  8

(E)  10

23)   If the numerator of a fraction is decreased 25 percent and the denominator of that fraction is increased 25 percent, then the difference between the resulting and the original fractions represents what percentage decrease?

(A)  40%

(B)  45%

(C)  50%

(D)  60%

(E)  75%

24)  One-tenth is what part of three-fourths?

(A)  3/40

(B)  1/8

(C)  2/15

(D)  15/2

(E)  40/3

25)  How many degrees are between the hands of a clock at 3:40?

(A)  150 degrees

(B)  140 degrees

(C)  130 degrees

(D)  125 degrees

(E)  120 degrees






STOP

End of Section 1.  If you have any time left, go over your work in this section only.  Do not work in any other section of the test.

Section 2 

30 Questions


30 minutes

Directions:  Each of the following consists of an incomplete sentence followed by five words or pairs of words.  Choose the word or pair of words which, when substituted for the blank space or spaces, BEST completes the meaning of the sentence, and mark the letter of your choice on your answer sheet.    

Example:  In view of the extenuating circumstances, the judge recommended  -------.

(A)  conviction

(B)  a mistrial

(C)  life imprisonment

(D)  a defense

(E)  leniency

Correct Answer:  E

1.  Since the three political candidates could not reach a(n) --------- the issue, they opted to -------, and to discuss the abortion bill instead.

(A)  compromise on  --  endorse

(B)  verdict on --  enact

(C)  decision about -  berate

(D)  agreement on -- proclaim

(E)  consensus on -- table

2.  The judge's astute criticism of the law student's paper is due to his ability, as an attorney, advocate and judicial expert, to approach legal briefs as a(n)

(A)  detractor

(B)  veteran

(C)  interpreter

(D)  practitioner

(E)  sage

3.  The geneologist was so eager to  -------  his family history that he grasped at even tenuous evidence to  -------- the wide gaps in his chronology.

(A)  disregard  --  destroy

(B)  reinforce  --  strengthen

(C)  preserve  --  bridge

(D)  articulate  --  explain

(E)  overcome  --  explain

4.  The ------- donor gave liberally to many charities and humanitarian groups.

(A)  munificent

(B)  venerable

(C)  colloquial

(D)  reverent

(E)  dedicated

5.   More  ------ than his wife, Senor Garces had a less ------ relationship with the household staff.

(A)  apathetic  --  diffident

(B)  cordial  -  venerable

(C)  compassionate  --  empathetic

(D)  frugal  --  penurious 

(E)  conciliatory -- confrontational

Directions:  Each of the following questions consists of a pair of capitalized words followed by five pairs of words lettered A to E.  The capitalized words bear some meaningful relationship to each other.  Choose the lettered pair of words whose relationship is most similar to that expressed by the capitalized pair and mark its letter on your answer sheet

Example:  DAY : SUN

(A)  sunlight : daylight

(B)  night : moon

(C)  moon : star

(D)  ray : sun

(E)  heat : cold

Correct Answer:  C

6.  OPPORTUNIST  :  ADVANTAGE::

(A)  philanderer :  recreation

(B)  passenger :  vehicle  

(C)  candidate  :  favor

(D)  patient  :  medication    

(E)  refugee  :  asylum

7.  LIBERTARIAN :  TYRANNY ::

(A)  patriot  :  anarchy  

(B)  ionoclast  :  orthodoxy

(C)  judge  :  penury

(D)  researcher :  theorem

(E)  choreographer  :  entertainment

8.  LAW  :  JURISPRUDENCE::

(A)  grammar  :  rhetoric

(B)  artifacts :  geology

(C)  death :  corpse

(D)  argumentation  :  forensics

(E)  exercise  :  health

9.  DOGGED  :  SURRENDER::

(A)  intransigent  :  compromise

(B)  obliging  :  reciprocate

(C)  provocative  :  enthuse

(D)  retiring  :  passionate

(E)  disarray  :  stable 

10.  BUILDING  :  ORNATE ::

(A)  outline  :  detailed

(B)  cliche  :  colorful

(C)  opera  :  melodious

(D)  screenplay  :  entertaining

(E)  prose  :  florid

11.  SAGE  :  WISDOM ::

(A)  fledgling : experience

(B)  child : youth

(C)  charlatan : honesty

(D)  rogue :  chicanery

(E)  zealot  :  fervor

12.  INCONGRUOUS  :  HARMONY ::

(A)  conciliation : resentment

(B)  diffidence : shyness

(C)  indelicate : coarseness

(D)  diffuse  :  concentration  

(E)  resolute  :  whimsy

13.  RIGID  :  ADAPTABILITY ::

(A)  merciful  :  tyranny

(B)  fractious  :  obedience

(C)  reflective  :  vapidity

(D)  proud  :  haughtiness

(E)  cynical  :  fortitude

Directions:  Each passage below is followed by a set of questions.  Read the passage, then answer the accompanying questions, basing your answers on what is stated or implied in the passage and any introductory material provided.  Mark the letter of your choice on your answer sheet.

Questions 14 -21 are based on the following passage.

The following speech was delivered at the height of the 1960s civil rights movement by Dr. Martin Luther King, head of the Soutern Christian Leadership Conference, and the movement's most eloquent spokesperson.

I have come to this hallowed spot to remind America of the fierce urgency of now.  This is no time to engage in the luxury of cooling off or to take the tranquilizing drug of gradualism.   Now is the time to  make real the promises of democracy.  Now is the time to rise from darkness and desolate valley of segregation to the sunlit path of racial justice.  Now is the time to lift our nation from the quicksand of racial injustice to the rock of brotherhood.  Now is the time to make justice a reality for all of God's children.

It would be fatal for the nation to overlook the urgency of the moment.  This sweltering summer of the Negro's legitimate discontent will not pass until there is an invigorating autumn of freedom and equality.  Those who hope  that the Negro needed to blow off steam and will now be content will have a rude awakening of the nation returns to business as usual.  There will be neither rest nor tranquility in America until the Negro is granted his citizenship rights.  The whirlwinds of revolt will continue to shake the foundations of our nation until the bright day of justice emerges.

But that is something that I must say to my people who stand on the warm threshold which leads into the palace of justice.  In the process of gaining our rightful place we must not be guilty of wrongful deeds.  Let us not seek to satisfy our thirst for freedom by drinking from the cup of bitterness and hatred.

We must forever conduct our struggle on the high plane of dignity and discipline.  We must not allow our creative protest to degenerate into physical violence.  Again and again we must rise to the majestic heights of meeting physical force with soul force.   The marvelous new militancy which has engulfed the Negro community must not lead us to a distrust of all white people, for many of our white brothers, as evidenced by their presence here today, have come to realize that their destiny is tied up with our destiny.  And they have come to realize that their freedom is inextricably bound to our freedom.  We cannot walk alone.  

As we walk, we must make the pledge thay we shall always march ahead.  We cannot turn back.  There are those who are asking the devotees of civil rights, "When will you be satisfied?"  We can never be satisfied as long as the Negro is the victim of unspeakable horrors of police brutality.  We can never be satisfied as long as the Negro's basic mobility is from a smaller ghetto to a larger one.  We can never be satisfied as long as our children are stripped of their selfhood and robbed of their dignity by signs stating, "For Whites Only."  We cannot be satisfied as long as a Negro in Mississippi cannot vote and a Negro in New York believes he has nothing for which to vote.  No, no, we are not satisfied, and we will not be satisfied until justice rolls down the waters and righteousness like a mighty stream.

I am not unmindful that some of you have come out of great trials and tribulations.  Some of you have come fresh from narrow jail cells.  Some of you have come from areas where your quest for freedom left you battered by the storms of persecution and staggered by the winds of police brutality.  You have been the veterans of creative suffering.  Continue to work with the faith that unearned suffering is redemptive.

Go back to Mississippi, go back to Alabama, go back to South Carolina, go back to Louisiana, go back to the slums and ghettos of our Northern cities, knowing that somehow this situation can and will be changed.  Let us not wallow in the valley of despair.

14.  When King says  that "unearned suffering is redemptive", he means that it

(A)  provokes police brutality

(B)  confers sanctity, ot holiness, upon the sufferer

(C)  strips children of their dignity or self-worth

(D)  will never be repaid

(E)  is bound to continue forever

15.  King's attitude toward white Americans appears to be based on

(A)  mutual distrust

(B)  contempt for authority

(C)  apprehension

(D)  mutual respect

(E)  cautious optimism 

16.  Which quotation best suggests the main idea of the speech?

(A)  "...we must not be guilty of wrongful deeds."

(B)  "We cannot walk alone."

(C)  "We can never be satisfied as long as the Negro's basic mobility is from a smaller ghetto to a larger one."

(D)  "...to remind America of the fierce urgency of now."

(E)  "...this situation can and will be changed."

17.  In this speech, King specifically recommends

(A)  nonviolent resistance

(B)  social turmoil

(C)  optimism

(D)  faith in God

(E)  economic equality

18.  In the passage, King's attitude is generally

(A)  biased

(B)  cynical

(C)  fearful

(D)  optimistic

(E)  neutral

19.  King's remarks indicate that he considers the racial problem a national problem because

(A)  the United States Constitution supports segregation

(B)  laws will be broken if he problem is left unattended

(C)  all areas of American life are affected

(D)  all white Americans are prejudiced

(E)  African-Americans are moving to the suburbs

20.  In the passage, King implies that the struggle for racial justice can be best won through

(A)  legal challenges

(B)  passive resistance

(C)  creative protest

(D)  marching on Washington

(E)  civil disorder

21.  The tone of the speech can best be described as

(A)  inspirational

(B)  weary

(C)  buoyant

(D)  boastful

(E)  defiant

Questions 22 - 30 are based on the following passage.

In this passage, actress / author / activist / entrepreneur Jane Fonda describes her father, the late actor Henry Fonda.

After I turned 40, my father began giving me unusual birthday presents. Wrapped in conventional gift paper, they posed as innocent surprises, but every one of them was capable of eliciting a torrent of emotion.  On my last birthday before his death, Dad's gift was particularly touching,  inexplicably stirring up volatile, dormant feelings inside me.  What role did he play in the process, and in fact, throughout my entire life?     Inciter?   Igniter?  Evoker?     "Elusive presence" was an apt description:  always there, but never completely fathomed.

Anyway, on my 50th birthday, just before Dad died, he presented me with a huge box of emotionally-loaded keepsakes from the past. Included was the April  1971 issue of Time Magazine.   Turning to the table of  contents, I saw an article about my academy Academy Award win that year and another about the movie Klute.  Beside the word Klute had been penciled in "Jane," as if I might not remember starring in the movie.

When this issue of the magazine came out, I was living on the Thammes River in Paris, France.  My father was still the most glamorous person I knew. I was not completely sure of him, the way I was sure of my younger brother, Peter,  who in our household performed the tasks associated with fatherhood while my father worked for long months at a time filming larger-than-life blockbusters for the general public.  Even as I approached middle age, my father's many alter egos on the silver screen were often more familiar to me than the man himself.

He was more like a magical older brother, my Dad, in those impressionable days when the soft clay of my personality was being sculpted. He came and she went, dashing off to his studio work each day, returning after dark in elated exhaustion.  He was long since widowed by then, but kept his private life away from the press.  "When people ask, I say your mother had cancer. The rest is nobody's business." Many years later, he confessed that he never quite knew how to discuss my mother's suicide.  Or so many other family issues that remained eerily unspoken, despite their looming domination over our emotional lives.  

After my brother and I became famous in our own right,  Dad was forced to admit the truth about mother's premature, self-induced death.  Her many letters to him were in that same birthday box that included the Time Magazine article and my mother's diploma from Harvard.   These selected birthday offerings, I have begun to understand, were not just a way of cleaning out his closets, but a conscious presentation to me of artifacts from our shared past.  They are tangible reminders through which those of us who recognize the "pieces" can then re-enter the past and watch reruns of the old activities being played out in those days. Only now, a stronger man had grown out of the emotional tragedies of his young adulthood (one would hope) and was therefore ready to appreciate the reminders, as interesting embodiments of our shared human drama.  At will, we each could could enter the past, and replay our part with more perspective and compassion.  We could examine every role:  Dad's, mine, my brother Peter's, and that of my fragile, tortured mother.  Finally, we were both ready to make meaningful connections about who these people were and what we all had in common.

22.  The narrator most likely mentions the gift paper to suggest

(A)  that the wrapping was often more interesting than the gifts

(B)  the carefulness with which her father prepares the gifts

(C)  the contrast between the appearance and the contents of the packages

(D)  her poignant memories of special occasions

(E)  the anticipation she feels when receiving these gifts

23.  The reference to "soft clay" serves to

(A)   suggest Jane's unpretentious nature

(B)   express the unreliable nature of the narrator's memories

(C)   show what a lasting impression Dad made on others

(D)   suggest the versatility of Jane's creative talents 

(E)   emphasize Dad's influence over Jane

24. In the third paragraph, Jane emphasizes her father's

(A)  dependability

(B)  generosity

(C)  unconventionality

(D)  sentimentality

(E)  dishonesty

25.  The primary motive behind Henry Fonda's gift giving to his daughter is to

(A)   prove that all members of the family had shared in its survival

(B)   provide her with a vehicle for examining and resolving past dramas

(C)   set the stage for his future relationship with his daughter

(D)   establish a link to their shared professional past

(E)   help her understand the challenges he faced as a widower

26.  The series of one-word questions in the first paragraph primarily reflects

(A)  the father's changeable personality

(B)  child's amusement over a game

(C)  a child's perception of a confusing situation

(D)  an adult's resentment at being manipulated

(E)  an adult's attempt to identify a fitting label

27.  The phrase "(one would hope)" in the final paragraph expresses Jane's

(A)   surprise at her father's emotional turmoil

(B)   optimism about the wisdom of human beings

(C)   need for reassurance about her own success

(D)   uncertainty about having achieved full matunty

(E)   confusion over her father's intentions

28.  The comment about her father's "many alter egos on the silver screen" is most likely included to

(A)  provide insight into how fame affected her father 

(B)  indicate why her father was seldom home

(C)  indicate that Jane resented her father's success

(D)  indicate the difficulties in combining work and family life

(E)  allow Jane to discuss her father's stellar acting career

29. The narrator primarily conveys which of the following regarding her father?

(A)   Mused wonderment

(B)   Loving support

(C)   Suppressed insecurity

(D)   Detatched gratitude

(E)   Unresolved resentment

30.  With which of the following statements would Henry Fonda most likely agree?

(A)   Sometimes it is necessary to be less than entirely forthright.

(B)   Being too career-oriented jeopardizes personal growth.

(C)   Obstacles can prevent talented people from achieving their goals.

(D)   More men should be hands-on fathers.

(E)   Traditional social practices should be honored and respected. 






STOP

End of Section 2.  If you have any time left, go over your work in this section only.  Do not work in any other section of the test.

Section 3    


10 Questions


15 Minutes

Directions:  Solve the following problems using any available space on the page for scratchwork.  On your answer sheet fill in the choice which best corresponds to the correct answer.

Notes:  The figures accompanying the problems are drawn as accurately as possible unless otherwise stated in specific problems.  Again, unless otherwise stated, all figures lie in the same plane.  All numbers used in these problems are real numbers.  Calculators are permitted for this test.

Reference Information:

Circles:  C = 2 (pi) r,  A = (pi) (r) (r)

The number of degrees of arc in a circle is 360. 

Rectangles:  A  = lw

Rectangular solid:  V = lwh

Cylinder:  V = (pi)(r)(r)h

Triangle:  The measure of degrees in a straight angle is 180


  The sum of the measures in degrees of the angles of a triangle is 180


  A = (0.5)bh

1.  If one-half of the female students at Harvard eat Mexican food and one-third of the male students eat Mexican food, what fractional part of the student body eats Mexican food?

(A)  5/12

(B)  2/5

(C)  3/4

(D)  5/6

(E)  It cannot be determined from the information given

2.  After Rory gave $10 to Alicia and Alicia gave $6 to Ebony, Rory had $10 more than Alicia and $20 more than Ebony.  Originally, how much more did Rory Have than Alicia and Ebony?

(A)  $14 more than Alicia and $16 more than Ebony

(B)  $18 more than Alicia and $24 more than Ebony

(C)  $18 more than Alicia and $26 more than Ebony

(D)  $24 more than Alicia and $26 more than Ebony

(E)  $24 more than Alicia and $36 more than Ebony

3.  A large computer chain store charges $28 for a top-of-the-line CD burner.  This price is 40% more than the amount it costs the store to buy them.  At a holiday sale, store employees can purchase any remaining CD burners at 30% off the store's cost.  How much would it cost an employee to purchase a CD burner at the holiday sale?  

(A)    $8.40

(B)  $14.00

(C)  $19.60

(D)  $20.00

(E)  $25.20
4.  In a set of eleven different numbers, which of the following CANNOT affect the value of the median?

(A)  Doubling each number

(B)  Increasing each number by 10

(C)  Increasing the smallest number only

(D)  Decreasing the largest number only

(E)  Increasing the largest number only

5.  In rectangle RSCY, point X is the midpoint of side SC.  If the area of quadrilateral RSXY is 2/3, what is the area of rectangle RSCY?

(A)  1/2

(B)  3/4

(C)  8/9

(D)     1

(E)  8/3  

6.  How many small cubes of jello, each with a total surface area of 96 square centimeters, can be cut from a large solid jello mass with a total suface area of 2,400 square centimeters if no jello is lost in the cutting?

(A)     5

(B)    25

(C)    30

(D)    80

(E)  125

7.  Points A, B and C lie in a plane.  If the distance between A and B is 5 and the distance between B and C is 2, which of the following could be the distance between A and C?

I.    3

II.   5

III.  7

(A)  I only

(B)  II only

(C)  III only

(D)  I and III only

(E)  I, II and III






-3, -2, -1, 0, 1, 2, 3

8.  How many distinct sums can be obtained by adding any two different numbers shown above?

(A)    7

(B)  11

(C)  13

(D)  15

(E)  21

9.  In the repeating decimal 0.13457 = 0.134571345713457..........,   where the digits 13457 repeat, which digit is in the 4,000th place to the right of the decimal point?

(A)  1

(B)  3

(C)  4

(D)  5

(E)  7

10.  There are three roads from Providence to Newport and four roads from Newport to Barrington.  If Jamie drives from Providence to Barrington and back, passes through Newport in both directions, and does not travel any road twice, how many different routes for the trip are possible?

(A)  72

(B)  36

(C)  24

(D)  18

(E)  12






STOP

End of Section 3.  If you have any time left, go over your work in this section only.  Do not work in any other section of the test.

Section 4

10 Questions


15 Minutes

Directions.  The two passages given below deal with related topics.  Following the passages are questions about the content of each passage or about the relationship between the two passages.  Answer the questions based upon what is stated or implied in the passages and any introductory material provided.  Mark the letter of your choice on your answer sheet.

Questions 1 -10 are based on the following passages

Passage 1.

According to Signumd Freud's psychoanalytic theories, every individual has a store of vital energy, called the libido. The strength of this vital energy, its nature and the channels into which it flows are the prime factors in determining personality and in distinguishing between normality and neurosis. The libido is mental or psychic energy, not synonymous with appetite, drive or any other physical or physiological entity.  The source of the libido is purely sexual.   According to Freud, the libido is "the force through which the sexual instinct expresses itself". 

In the Freudian psychoanalytic view, the Id is the unconscious, striving aspect of personality. It is the original source of the libido and all of the instinct energy of the individual. The Id, primitive in character, is guided by the "pleasure principle," seeking gratification and avoiding pain.   It has no contact with reality except through the mediation of the Ego.  The Id is illogical and amoral, and may be considered as roughly equivalent to the primitive and animal nature of man.  

The Ego is simultaneously conscious and unconscious. In infancy the Ego is small and weak, but gradually grows through contact with reality, and by the assumption, through the mechanism of identification, of the characteristics of the infantile love objects, notably of the parents. The normal adult Ego is governed chiefly by the "reality principle" and is rational and perceptual. In its lower regions the Ego interacts with the Id in several ways. The Ego is the source of the repression of urges that are pushed back into the Id and in general seeks to control the primitive instincts of the latter.   At the same time, the Ego grants satisfactions to the Id when they are judged to be harmless. 

A further complication of the structure of personality is the Super-Ego, which consists partly of inherited moralities and taboos and partly of the moral biases acquired by the child from its parents. The principal function of the Super-Ego is criticism.  It is largely unconscious and is more aware of the Id's amoral impulses than is the Ego. Hence, the Super-Ego strives to compel the Ego to repress the tendencies of the Id.  As it is sometimes expressed, the Super-Ego fights with the Id, the Ego being the battleground. It is obvious that the  Super-Ego corresponds to the notion of "conscience." 

Passage 2

Objective psychologists do not support psychoanalytic theories because they reveals many serious defects when examined according to scientific criteria. A first serious shortcoming of psychoanalysis is that it is based on unreliable data. In recent years psychologists have tended less and less to use introspection as a major method of research, even in such prosaic problems as remembering and reasoning. Even more unreliable than laboratory introspection are the methods of free association, drowsy recall and dream analysis by which the psychoanalysts claim to obtain their facts. The results of such processes of recall are ambiguous and hazy and are easily given any interpretation that suits the preconceived biases of the analyst.

Furthermore, these data are obtained chiefly from neurotic individuals, who are notably unreliable and suggestible.  Such persons will readily believe anything, even the absurd, if they are told with an air of authority. The psychoanalyst supplies much of his own data to fit his theories by interpreting the manifest content of associations and of dreams and then considering these interpretations as facts. If the patient agrees with the theory, it is thereby proved; if he does not, this is merely evidence of his "resistance".  This is a remarkable method for scientific procedure indeed.  

A second objection to the methodology of psychoanalysis is its tendency to employ personified fictional concepts. Psychoanalysis assumes that the personality has a host of active, striving, opposed entities:  the Super-Ego battles with the Id; the complex strives to express itself but is pushed back into the unconscious by the censor, whence it comes out in disguise.  According to this account, the human being is a stage upon which these actors, each with an independent individuality, play out their drama.  

Such personified terminology is far removed from the practices of experimental science, yet even the most learned psychoanalysts use these concepts as if they were real entities and forces, rather than purely figures of speech. These concepts appeal to popular thinking, for the unscientific person has always ascribed his behavior to such entities as "will," "soul," "sin," and "conscience",  all of which have almost exact analogues in the Freudian nomenclature. As several psychologists have suggested, the Freudian entities bear a strong resemblance to the "demons" that, in ancient and medieval times, were supposed to inhabit mentally disordered persons.

All sciences need concepts, but objective psychology prefers those based on laboratory investigations such as motive, learning and inhibition rather than the analogical concepts of libido, fixation and regression.  The human being is not a composite whose parts come into conflict, but a unified organism which responds to situations and is modified by its experiences.

1.  The main purpose of Passage 1 is to

(A)  debate the advantages of Freudian theory

(B)  explain some of the more complicated and advanced aspects of psychoanalytic theory

(C)  explain some basic concepts of psychoanalytic theory

(D)  argue for increased understanding of the basics of psychoanalysis

(E)  present a unified understanding of Freudian theory

2. According to Passage 1, all of the following statements about the libido are true EXCEPT

(A)  the libido is very similar to one's desire for food

(B)  the libido is sexual in nature

(C)  the libido originates from the Id

(D)  the libido can determine one's personality

(E)  the libido is important in differentiating between mentally healthy people and mentally unhealthy people

3.  According to Passage 1, the word "mediation" can best be interpreted to mean

(A)  reconciliation

(B)  compromise

(C)  interposition

(D)  intercession

(E)  interference

4. The phrase "the reality principle" most likely means which of the following?

(A)  The Id is hindered by reality and its restrictions.

(B)  Reality requires the Id to act in an illogical manner.

(C)  Reality presupposes that the Ego will control the Id.

(D)  Reality prevents the Ego from engaging its better qualities. 

(E)  The Ego perceives reality and responds to it in a reasonable manner.

5.  According to Passage 1, the main difference between the Ego and the Super-Ego is that

(A)  the Super-Ego is more critical and more cognizant of the Id's amorality than the Ego

(B)  the Ego is composed of inherited moralities and taboos, whereas the Super-Ego is composed of moral biases that come from the parents

(C)  the Ego is more critical of the Super-Ego than the Id

(D)  the Super-Ego is more aware of the Id's irrational impulses than the Ego

(E)  the Ego is more critical of the Id's primitive instincts than the Super-Ego

6.  In Passage 2, the phrase "the preconceived biases of the analyst" most likely refers to

(A)  the hazy and ambiguous processes of recall that the author critiques

(B)  laboratory introspection, such as remembering and reasoning

(C)  unreliable methodology, such as free association, used by analysts

(D)  ideas that are formed in the analyst's mind prior to his investigation

(E)  the reliance on data obtained from neurotic individuals

7.  The tone used in the phrase "a remarkable method for scientific procedure indeed" (Passge 2) can be best characterized as

(A)  apologetic

(B)  sarcastic

(C)  ironic

(D)  appreciative

(E)  laudatory

8.   The author of Passage 2 makes all the following criticisms of the "personified fictional concepts" employed in psychoanalytic theory EXCEPT

(A)  they resemble the mythological entities of ancient man 

(B)  they represent preformed concepts In the analyst's mind

(C)  they are not based on scientific laboratory investigations

(D)  they are consistent with popular thinking

(E)  they unrealistically suggest that humans are made up of parts rather than a unified whole

9.  Which of the following best characterizes the overall tone of the two passages?

(A)   Passage 1 is naive,  while Passage 2 is sophisticated 

(B)   Passage 1 is exploratory, while Passage 2 is questioning

(C)   Passage 1 is explanatory, while Passage 2 is argumentative

(D)   Passage 1 is ironic, while Passage 2 is sarcastic

(E)   Passage 1 is expository, while Passage 2 is critical

10.  Which of the following best characterizes the way in which the psychoanalytic theory of Passage 1 and the objective psychology of Passage 2 are similar?

(A)   Both theories attempt to provide concepts that describe human behavior and personality.

(D)   Both theories reject Freud and his thinking.

(B)   Both theories are concerned with the battles waged in the human psyche.

(C)   Both theories see the human as an integrated whole. 

(E)   Both theories are skeptical of lay attempts to describe human behavior.






STOP

End of Section 4.  If you have any time left, go over your work in this section only.  Do not work in any other section of the test.

Section 5    


25 Questions


30 Minutes

Directions:  Solve the following problems using any available space on the page for scratchwork.  On your answer sheet fill in the choice which best corresponds to the correct answer.

Notes:  The figures accompanying the problems are drawn as accurately as possible unless otherwise stated in specific problems.  Again, unless otherwise stated, all figures lie in the same plane.  All numbers used in these problems are real numbers.  Calculators are permitted for this test.

Reference Information:

Circles:  C = 2 (pi) r,  A = (pi) (r) (r)

The number of degrees of arc in a circle is 360. 

Rectangles:  A  = lw

Rectangular solid:  V = lwh

Cylinder:  V = (pi)(r)(r)h

Triangle:  The measure of degrees in a straight angle is 180


  The sum of the measures in degrees of the angles of a triangle is 180


  A = (0.5)bh

Part 1:  Quantitative Comparison Questions

Directions:  For each of the following questions, two quantities are given:  one in Column A, the other in Column B.  Compare the two quantities and mark your answer sheet as follows:

(A)  if the quantity in Column A is greater

(B)  if the  quantity in column B is greater

(C)  if the quantities are equal

(D)  if the relationship cannot be determined from the information given

Notes:

(1)  Information concerning one or both of the compared quantities will be centered above the two columns for some items

(2)  Symbols that appear in both columns represent the same thing in Column A and Column B

(3)  Letters such as x, n, anf k are symbols for real numbers

Example:

Column A




Column B

The average of 17,19,21,23


The average of 16,18,20,22

Correct answer:  A


The sum of the negative of x and the square of y is less than 2.

1.  Column A




Column B

x + 2





y squared




r is a positive integer




k = 10  x  r

2.  Column A




Column B

The sum of the digits of r



The sum of the digits of k


A square piece of paper with sides of length t is cut into exactly five pieces 


with areas 9, 9, 10, 10 and 11

3.  Column A




Column B

t





8


a, b and c are the measures of three of the four angles of a parallelogram.

4.  Column A




Column B

a + b





2c

5.  Column A




Column B

The volume of a cube



The sum of the volumes of 3 cubes,

with edge of length 3



each with edge of length 1, and 3 cubes,







each with edge of length 2



Two sets of vertical angles are formed by two intersecting lines.  The sum of the 


measures of one set of vertical angles is 2x and the sum of the measures of the 


other set is 2y.

6.  Column A




Column B

x





y



w represents the sum of the first 20 positive integers



z represents the sum of the first 10 positive integers

7.  Column A




Column B

w - z





100





x + y + z = 50





x + y - z = 20

8.  Column A




Column B

z





15



In triangle PBD,  PB = 3,  BD = 4,  and PD = 6.

9.  Column A




Column B

The length of the altitude



The length of the altitude

to base PB




to base PD

10.  Column A




Column B

The total surface area of a box


The sum of the total surface areas

with dimensions 3 inches by 3 inches 

of two cubes, each with dimensions

by 6 inches




3 inches by 3 inches by 3 inches



g  -  r   =   u  -  g   =   n  -  u   =   v  -  n   =  z  -  v

11.  Column A




Column B

u - r





(z - v)  +  (u - g)




6 < 2c - 1 <  11

12.  Column A




Column B

c





11/2




3 < r < p < 4

13.  Column A




Column B

25% of r




20% of p



The arithmetic mean of five positive integers is 80.

14.  Column A




Column B

The median of the 5 integers


80





1, 2, 4, 8, 16

15.  Column A




Column B

A number above that is the sum


A number above that is the sum

of two equal odd integers


of two equal even integers


Part 2:  Student-Produced Response Questions

Directions:  Solve each of these problems.  Write the answer in the corresponding grid on your answer sheet and fill in the ovals beneath each answer you write.

16.  In a stack of six note cards, each card is labeled with a different integer 0 through 5.  If two cards are selected at random without replacement, what is the probability that their sum will be three?

17.  Assume that 1/4 cups of cola syrup is mixed with 7/4 cups of sparkling water to make a cola drink for four people.  How many cups of cola syrup are needed to make cola drink at the same strength for fourteen people?

18.  How many of the first one hundred positive integers contain the digit 9?

19.  For the numbers a, b and c, the arithmetic mean is twice the median.  If a < b < c, a = 0 and 

c = nb, what is the value of n?

20.  The time in hours (T), needed to produce X dresses is given by the formula  T = GX + F, where G and F are constants.  If it takes 265 hours to produce 100 dresses an 390 hours to produce 150 dresses, what is the value of F?

21.  Typically, 4 walnut brownies weigh one pound.  Ten pounds of these brownies cost $8.00.  At this rate, what is the cost (in dollars) of a dozen walnut brownies?

22.  If the perimeter of a rectangle is 10 times the width of the rectangle, then the length of the rectangle is how many times the width?

23.  There are 120 red jelly beans and 80 blue jelly beans in a display case that contains 200 jelly beans.  If only blue jelly beans are to be added to the display case so that the probability of randomly drawing a blue jelly bean becomes 2/3, how many blue jelly beans must be added to the display case?

24.   The expression    3x - 1  +  x + 6     is how much more than x?




4
  4


25.  What is the smallest of five consecutive integers if the sum of these integers equals 185?






STOP

End of Section 5.  If you have any time left, go over your work in this section only.  Do not work in any other section of the test.

Section 6

35 Questions


30 Minutes

Directions:  Each of the following consists of an incomplete sentence followed by five words or pairs of words.  Choose the word or pair of words which, when substituted for the blank space or spaces, BEST completes the meaning of the sentence, and mark the letter of your choice on your answer sheet.    

1.  Anne Hathaway's captivating memoir Paths to Justice manages to simultaneously celebrate and ------- her years as the mistress of J. Edgar Hoover.

(A)  explain

(B)  delineate

(C)  eradicate

(D)  deliberate

(E)  censure

2.  The suitor was intimidated by the ------ demeanor of his date's father, who refrained from exchanging even rudimentatry social pleasantries.

(A)  taunting

(B)  lackadaisical

(C)  exasperating

(D)  glacial

(E)  rousing

3.  After scheming for weeks, Isabella's  ------- were rewarded when David broke his engagement to  Amy. 

(A)  condemnations

(B)  cicumlocutions

(C)  machinations

(D)  exaggerations

(E)  contradictions

4.  Although the public entrusts licensed nutritionists to formulate well-balanced meal plans, most dieticians insist that their profession has no  ---------- making good food choices.

(A)  monopoly on

(B)  misgivings about

(C)  problem with

(D)  consensus in

(E)  success in

5.  Frustrated by the exaggerated myths of heroes from World War I, many veterans of the Vietnam War were -------, who refused to acknowledge such a narrow view of greatness.

(A)   nitpickers 

(B)   purists

(C)   fundamentalists

(D)   aggravators

(E)   debunkers

6.  Doctors who forget that rationality is a small part of their patients' experience take an excessively ------ approach to life.

(A)  aesthetic

(B)  cerebral

(C)  therapeutic

(D)  obdurate

(E)  utilitarian

7.  While the ------ investors assumed risks aggressively, they were not ------,  choosing to avoid financial pitfalls whenever possible. 

(A)  facile --  overzealous

(B)  determined --  culpable

(C)  intrepid -- foolish

(D)  conventional --  clandestine

(E)  flagrant -- irresponsible

8.  Although powerful negative emotions are ------ by time, they can still leave scars.

(A)  amplified

(B)  mitigated

(C)  exacerbated

(D)  onerous

(E)  ineffable

9.  The  --------  Senator was not concerned with the political origination of the plan, only whether it would work.

(A)  meticulous

(B)  intrepid

(C)  libertarian

(D)  utopian

(E)  pragmatic

10.  The magazine article quotation claiming the actor's view of the Academy Awards as mundane was ------ ;  it completely ------ the actor's position that the award was an incredible honor.

(A)  heinous --  omitted

(B)  abbreviated  --  restricted

(C)  inflammatory  --  fabricated

(D)  spurious  --  misrepresented

(E)  polarizing --  ridiculed

11.  By providing generous bonuses, the local school district is hoping to ------ the exodus of experienced teachers and ------ growth in the teaching profession.

(A)  diminish  --  curtail 

(B)  accelerate --  protect

(C)  arrest -- encourage

(D)  enchance  -- regulate

(E)  intensify  -- initiate

12.  Despite the overwhelming number of women on campus, feminist groups are anything but ------.  Until last semester, there weren't any.   

(A)  political

(B)  sparse

(C)  legion

(D)  barren

(E)  opulent

13.  During the 1990's, doctors who ------ court orders that declared specific patient rights unconsitutional often weathered retaliation from patient rights  -------.

(A)  demanded  -  leaders

(B)  obtained --  foes

(C)  violated  -  advocates

(D)  enforced --  opponents

(E)  defied --  opponents

14.  Unlike Professor Garfield, who praised Harvard University whenever possible, Professor Davis never missed an opportunity to ------ the prestigious university.

(A)  disparage

(B)  portend

(C)  circumvent

(D)  suppress

(E)  validate

Directions:  Each of the following questions consists of a pair of capitalized words followed by five pairs of words lettered A to E.  The capitalized words bear some meaningful relationship to each other.  Choose the lettered pair of words whose relationship is most similar to that expressed by the capitalized pair and mark its letter on your answer sheet

15.   NEURAL : NERVES ::  

(A)  harmonious : melody

(B)  transmittal :  neuron

(C)  cephalic  :  skull 

(D)  hepatic :  kidney

(E)  audible : ear

16.  PERFIDIOUS  :  ARTLESS :: 

(A)  lacerated :  punctured

(B)  lavish  :  spartan   

(C)  highlighted  :  tinted

(D)  unadorned :  clean

(E)  extravagant :  gaudy

17.  ENLISTMENT  :  CONSCRIPTION ::

(A)  collaborate  :  fraternize

(B)  acceptance :  consideration

(C)  resignation  : dismissal

(D)  mandate : arbitration

(E)  notorious  :  infamy

18.  SUGGESTION  :  INDIRECT ::

(A)  nuance  :  subtle

(B)  inquiry  :  discreet  

(C)  hostility  :  justified  

(D)  sarcasm  :  humor

(E)  duress  :  mitigated

19.  TENANT  :  APARTMENT  ::

(A)  doctor  :  hospital

(B)  worker   :  factory

(C)  bibliophile  :  library     

(D)  incumbent  :  office

(E)  prisoner  :  cell

20.  GESTURE  :  MIMIC ::

(A)  president  :  support

(B)  conspirator  :  betray

(C)  humor  :  entertain  

(D)  manager  :   evaluate

(E)  person  :  emulate

21.  DISCERNING  :  PERCEIVE  :

(A)  scrupulous  :  warn

(B)  disarming  :  mediate

(C)  ambitious  :  persevere

(D)  theatrical  :  entertain

(E)  critical  :  apologize

22.  SAILING  :  NAVIGABLE ::

(A)  recovery  :  operable

(B)  cultivation  :  arable

(C)  cooperation  :  agreeable 

(D)  protection  :  dangerous

(E)  refurbish  :  threadbare

23.  REVIVE  :  EXHAUSTED ::

(A)  resume :  culmination

(B)  capture  :  escaped  

(C)  exploit :  naive

(D)  supplement  :  inadequate

(E)  refurbish  :  worn

24.  MENU  :  DISHES  ::

(A)  palette  :  canvas

(B)  manuscript  :  theories

(C)  bibliography  :  publications

(D)  gallery  :  sculptures

(E)  chronology  :  summary

25.  SUPERFICIAL  :  DEPTH  ::

(A)  disingenuous  :  contentment

(B)  penitent  :  scornful

(C)  narcissistic :  generous

(D)  impious  :  reverence

(E)  surrepitious  :  bewilderment

Directions:  The passage below is followed by a set of questions.  Read the passage, then answer the accompanying questions, basing your answers on what is stated or implied in the passage and any introductory material provided.  Mark the letter of your choice on your answer sheet.

Questions 26- 35 are based on the following passage

Alexandra D'Benedetto is a botanist and naturalist from Boise, Idaho.   This exerpt on bald eagle nests is from her 1997 doctoral dissertation in botany from Stanford University.

Just after the final hard freeze in late March, as nature seems sleepily dormant under the starry sky, the bald eagle mysteriously arrives in the Arizona desert.  Within a few weeks, it begins to build a clandestine nest, hidden underneath the upper side of a horizontal branch of a cactus, not among the twigs, but on the body of the branch itself.  Yet, in more populated regions,  I have known instances where it was attached by the side to an entrance to a cave;  and others when it was fastened on a fence post in an abandoned garden;  but these cases are rare.  In the woods it very often chooses a majestic oak to build on;  and in the orchard, or garden, selects an apple tree for temporary housing.  The branch is seldom more than twelve feet from the ground.  The nest is typically about three inches in diameter, and as double that in depth.   

A videotape of a bald eagle nest from the Amazon reveals a plethora of compositional details.  The outward coat includes small pieces of dark green lichen that vegetates on old trees and fences, thickly glued by the bird's vitamin-rich saliva, providing firmness and consistency, as well as a barrier against moisture.  The secondary layer reveals thickly matted layers of digested insect wings, closely laid together; encompassing a lining of mucousy substance from complex carbohydrates, most likely the stalks of indigenous fern.   Unlike the traditional nests of hummingbirds, robins and blue jays, bald eagle nests do not include moss or other chlorophyll-containing vegetation that is historically associated with wooded settings.   After its painstaking construction, the base of the bald eagle nest closely adheres to the branch, cleverly camouflaged;  when viewed from below, it appears as a natural configuration of the wood.   

Although a rare endangered species, prey to the attack of a host of human and animal predators, the vital tenants, two pure white eggs, perfectly symmetrical, remain oblivious to their examination.  Upon a human's approach, the tiny residents snuggle closely with a serious gaze, remaining always within their mother's view.  When the eggs hatch, the female will resume her place on the nest even if a human stands within a yard or two of the spot.  The precise period of incubation is unknown.  The young, a short time before they leave the nest,  thrust their bills into the mouths of their parents to suck a final morsel of food before their final departure.  Although lacking in evidence, I surmise that they consume muscle tissue, along with berries, chlorophyll-rich leaves and twigs from their lush tropical surroundings.  Having discovered their nests with eggs in Arizona as late as June, I suspect, but cannot prove, that they are capable of raising multiple broods in the same season.  

Future research will document the natural biological hazards of the bald eagle, as they begin their lonesome journey to survive in the vast desert beauty that is sadly cruel to its gentlest creatures.  

26.  Which of the following can be inferred about the bald eagle's habits?

(A)  They flourish only in warm climates

(B)  A brood consists of a single egg

(C)  They migrate in the spring

(D)  They usually raise two broods per season

(E)  They spend the winter in the tropics

27.  How does D'Benedetto reconstruct the makeup of the nest?

(A)  By taking apart a nest in the Arizona desert

(B)  By watching a bald eagle build a nest in the Amazon

(C)  By studying a research report from scientists in the Amazon

(D)  By inspecting a nest that appears on video

(E)  By making a copy of a nest she has observed

28.  The phrase "tiny residents" refers to

(A)  observers

(B)  eggs

(C)  naturalists

(D)  adult birds

(E)  nesting pairs of bald eagles

29.  When D'Benedetto remarks that she "lacks evidence" that bald eagles feeding their nestlings muscle tissue", she is suggesting

(A)  that their survival requires muscle tissue

(B)  her limitations as an observer

(C)  that muscle tissue may, in fact, be eaten

(D)  that no muscle tissue is eaten

(E)  that bald eagles eat only at night

30.  If D'Benedetto were to study squirrels, she would likely 

(A)  consult international experts about their natural behavior

(B)  observe them in the wild

(C)  read academic papers about them

(D)  breed them in captivity

(E)  dissect them to determine genetic differences

31.  The bald eagles' nest is composed of all of the following EXCEPT

(A)  vegetation

(B)  lichen

(C)  insect wings

(D)  strands from fern stalks

(E)  saliva

32.  When D'Benedetto remarks that the nests resemble "a natural configuration of the wood", she implies that

(A)  the nests are messily constructed

(B)  nests may be destroyed accidentally

(C)  the nests are usually invisible

(D)  the nests are designed to blend into their surroundings

(E)  most nests resemble the color of wood

33.  Why does D'Benedetto mention the side of a cave?  

(A)  To compare relative sizes of birds

(B)  To establish the birds' eating patterns

(C)  To illustrate nontypical nesting behaviors

(D)  To delineate plant life in Arizona

(E)  To complete a list of related sitings

34.  The main purpose of the passage is to describe

(A)  the nesting behavior of the bald eagle

(B)  the mating behavior of the bald eagle

(C)  the hazards to the bald eagle population

(D)  bald eagles in Arizona and the Amazon 

(E)  the activity of young bald eagle fledglings

35.   The fact that D'Benedetto has found nests with eggs as late as June indicates that

(A)  birds do not lay eggs before May

(B)  most eggs are found earlier than June

(C)  the eggs are not likely to hatch

(D)  the birds began nesting late in the season

(E)  some birds abandon their nests






STOP

End of Section 6.  If you have any time left, go over your work in this section only.  Do not work in any other section of the test.

SAT  Answer Key

Section 1

1.  C

6.  B

11.  B

16.  A

21.  B

  

2.  C

7.  A

12.  A

17.  B

22.  C

  

3.  D

8.  D

13.  D

18.  C

23.  A

 

4.  B

9.  D

14.  A

19.  A

24.  C

  

5.  D 

10. C

15.  A

20.  B

25.  C


Section 2

1.  E

6.  E

11.  E

16.  E

21.  A

26.  E
  

2.  D

7.  B

12.  D

17.  A

22.  C

27.  D
  

3.  C

8.  D

13.  B

18.  D

23.  E

28.  B

4.  A

9.  A

14.  B

19.  C

24.  C

29.  A

5.  E 

10. E

15.  D

20.  C

25.  B

30.  A

Section 3

1.  E

6.   E



2.  E

7.   E



3.  B

8.   B



4.  E

9.   E



5.  C 

10. A



Section 4

1.  C

6.   D



2.  A

7.   C



3.  C

8.   B



4.  E

9.   E



5.  A

10. A



Section 5

1.  A

6.  D

11.  C

16.  2/15, or 0.133
21.  2.40


2.  C

7.  A

12.  D

17.  7/8, or  0.875
22.  4



3.  B

8.  C

13.  A

18.  19


23.  160



4.  D

9.  A

14.  D

19.  5


24.  5/4

  

5.  D 

10. B

15.  B

20.  15


25.  35

  
Section 6  
1.  E

6.  B

11.  C

16.  B

21.  C

26.  C
     31.  A

2.  D

7.  C

12.  C

17.  C

22.  D

27.  D
     32.  D

3.  C

8.  B

13.  B

18.  A

23.  E

28.  E 
     33.  C

4.  A

9.  E

14.  A

19.  D

24.  C

29.  C
     34.  A

5.  E

10. D

15.  C

20.  E

25.  D

30.  B
     35.  B

Predicting Your Actual SAT Score

To predict your actual SAT scores from this test:

1)  Count the number of correct answers for both the math and verbal sections

2)  Count the number of incorrect answers for both the math and verbal sections

3)  Determine your Raw Score for Math and Verbal using the following formula:

Raw Score =  (Number of Correct answers )  -  (Number of incorrect answers)
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4)  Convert your Raw Score to an actual SAT score using the tables below

Example:  Verbal test:  65 correct, 10 incorrect


     Math test:  54 correct, 6 incorrect

Raw Score Verbal =  65  - (10/4)  =  62.5  =  62

Raw Score Math  =  54  -  (6/4)  =  52.5 = 52

From the tables,  the scaled Verbal Score is between 710 and 760

and the scaled Math Score is between 690 and 760

Conversion Tables

VERBAL




MATH

Raw Score
Scaled Score


Raw Score
Scaled Score 

75

800



60

800

70

800



55

760

65

760



50

690

60

710



45

650

55

670



40

610

50

620



35

580


45

590



30

550

40

550



25

510

35

520



20

480




30

480



15

440

25

440



10

410

20

410



  5

340





15

370



  0

200

10

340

5

290

0

230

